—

A 2N A, Make 5 L,Ls;vu) L ___»_“,,,,»:_;_ﬁ,w_/#- e :

T fﬁlf eacéx six t~ o [Z]flectO w‘{j—\f |
S fiui P L S

il d (rectioac

e ins e shadivg o r O
C/ cél S 8’ U/V\(L ﬁd‘& ‘“g )
\ 2)(9[0,,4/./\ ';'[’\Q SP
D. Ixplain wh "iz} i e
L wew, ? é{g@,i&sj
L Eox ma,‘m wolg b 7‘123 L muwm 470 preees
S . 5xf’z-‘3 _LL?_JF.

oot e Fuet vt e T L12)
r2) COWQJ Lz%q SO/{L

Sp Shawe 15 N
B. Swew cbrow@m% b\é\\_ | ( M“ﬁ?:&&“%"
C. Tx P\ Jnmiﬁ I ar ,(}S & 5&@9_&\ oowd 6:}MLQ
E ?X@ & ean, 7~ % }Z__%roufs skad,-_,er o{/w \&" 7"4‘
Fogxglawm 152325 30T i whok 30 2ack’s xR

f_ Té@ ﬁn g i_”}_ - 2 G l‘{‘uk()ﬂ /RS
1S 1§35 . ’



The whole w T lengH belows .
Elr S5y AR ex plai~ Llow 1o cSa;t 5;7—

5
Split  tle Whle wte 5 equall ports P
8(& Q{ths

Add o ok \chxﬂms 0§ Size _\E T 3@(’7 )CVT’H\&




Name Lesson 3 / Student Page D

Extensions

1. Pirate Jack buried % of his treasure. He gave % of the remaining treasure to his trusty

mate Pirate Joe. Pirate Joe received $3000 in gold. Exactly how much gold was in
Pirate Jack’s whole treasure? Draw a picture to show the solution.

2. Joshkin built a tower using blocks that linked together. I noticed that he had 27

blocks in % of his tower. Exactly how many blocks were in this entire tower?

Provide a clear description of your solution strategy.

3. The line below is 3 as long as a ribbon I have. Draw a line the same length as my

ribbon and another line that is 1% as long as my ribbon. Label the lines.
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